English Grammar for Scientific Writers

CLAUSE RECOGNITION PRACTICE

Decide whether each of the following groups of words is an independent clause, a dependent (= subordinate) clause, or not a clause at all.

We rode into town.

That I baked a cake.

Where you are.

In spite of the most elaborate preparations.

Nobody was home.

E = mc2.

The effects of measurement error are shown in Fig. 3.

I don't understand you.

Traits that develop at different times.

You might see me.

All other things being equal.

Where this symmetry of the optimum can be assumed.

The book is almost finished.

Under the linden trees.

The epistome of Stenopus is membranous.

The gills apparently appear simultaneously in Reptantia.

As Bate considered the Dendrobranchiata to be the most primitive decapods.

As noted earlier.

Because she liked him.

Carideans are variable in this regard.

Last name, first name, and initials.

Use either British or American spelling.

Taylor's experiments were innovative.

Taxol was chosen as the object of study.

Identifying the molecular components that regulate cytoskeletal protein.

